MRUMAY FQ HIIXIE (239 108)
(At d: '23.12.6)
= ‘ L= ‘ L= ] Ls 1235
T & 20 21 22'4 8 9%p) | 108p) [1~108p)
Yo R B g 100.0 | 104.1 100.8 87.4 89.7 91.5 90.9
(HEE7[H| %) (-14.4) (4.1) (-3.2) (-9.5) | (-10.2) | (-12.5) | (-10.6)
45 M= 1000 | 102.0 98.4 86.9 89.2 91.2 91.6
A (TES7H %) | (-107) | (20 (-35) | (-60) | (45 | (-54) | (-7.7)
er olF H= 1000 | 1036 | 105.3 94.1 97.4 99.9 95.5
F®ES7H %) | (-194) | (3.6) (1.6) (-9.6) | (-14.3) | (-180) | (-9.7)
ot F M= 100.0 | 1209 98.2 62.0 59.4 57.0 65.6
F™ES7H %) | (-15.9) | (20.9) | (-18.8) | (-33.3) | (-30.8) | (-34.1) | (-34.6)
o R B g 100.0 | 103.8 97.9 81.6 86.9 96.1 88.5
(HEE7[H| %) (-120) | (3.8 (-5.7) | (-10.5) | (-9.9) (-6.8) | (-9.2)
H45 M= 1000 | 103.1 99.1 87.7 89.4 93.7 92.3
=6} MES7|H| %) (-9.5) (3.1) (-3.9) (-6.2) (-5.9) -21) | (-6.9)
ol M= 1000 | 1022 97.0 80.5 90.6 108.6 90.1
MEAS7H %) | (-13.2) (2.2) (-5.1) (-9.6) (-8.7) (-4.8) | (-5.9)
fetdF M= 1000 | 113.8 95.8 58.7 60.2 57.0 65.3
F®ES7H %) | (-17.7) | (13.8) | (-15.8) | (-34.9) | (-344) | (-38.9) | (-32.7)
Yo R B s 94.4 89.0 88.9 93.6 94.2 91.3 90.4
(HAS7IH| %) (-5.1) (-5.7) (-0.1) (-0.5) (-0.5) (-3.00 | (-0.9)
3 e M= 94.9 86.9 83.5 93.8 95.9 94.6 89.4
ol MES7|H| %) (-2.0) (-8.4) (-3.9) (4.0) (8.0) (6.5) (3.7)
7% ol XM= 96.4 88.4 92.6 96.6 96.6 92.5 93.9
= MES7|H| %) (-4.9) (-8.3) (4.8) (2.4) (-0.6) (-5.3) (0.5)
ofetdF M= 79.6 102.7 92.5 74.7 71.1 68.8 74.1
FAES7H] %) (-20.8) | (29.0) (-9.9) | (-33.0) | (-33.2) | (-30.2) | (-27.4)
ySICHT PRI 1000 | 107.7 | 1134 99.1 1019 | 1025 | 105.8
(HAS7|H] %) (-11.9) | (7.7 (5.3) (-7.3) (-6.1) (-6.0) | (-7.5)
] HAF M= 100.0 107.7 115.5 101.3 104.6 105.7 | 1089
° FEHES7|H| %) | (-12.0) | (5.9) 9.1) (-6.8) (-6.3) (-5.8) | (-6.5)
Lol ISIE RSN (BN 1000 | 120.1 98.6 83.3 83.0 80.1 84.7
FMEASIH %) | (-11.1) | (20.1) | (-17.9) | (-11.3) | (-4.3) (-84) | (-15.8)
MafR =9 11,238 | 12,807 | 12,301 | 828.8 | 8837 | 8385 | 9030.6
A0l (HES 78| %) (-13.3) | (140) | (-40) | (-109) | (-85) (-9.0) | (-12.4)
(:;:i::) dRT T 16,203 | 18299 | 19,901 | 1,8724 | 1,870.0 | 1,784.0 |16,053.0
e (HES7|H| %) (-5.3) | (12.9) (8.8) (-8.0) (-8.0) (-5.5) | (-5.1)
FY=X| -4965 | -5492 | -7,601 | -1,044 | -986 946 | -7,022
A NN OO 547,926 | 592,378 | 625,552 | 51,531 [ 54,442 | 53,872 |526,241
s (A Lj%?_IHI %) ) (8.1) (5.6) (-1.9) (1.5) (-0.2) (1.6)
Aoigl) o5 EofY 51,798 | 60,184 | 64,236 | 4219 | 5084 | 6590 | 54,457
o= (HES7|H] %) (-) (16.2) (6.7) (0.0) (-2.5) (1.0) (5.0)
ge, | S7KEH0|, $/Bbl) 423 69.4 96.4 86.5 933 89.8 82.4
7t H/EHe(E) 1,180.1 | 1,1444 | 12915 | 1,318.5 | 1,329.5 | 1350.7 | 1305.4
F) & Aze g T YHO0|E i, 22AH YK 3oz =3 £HE £+ UZ
Z2) Mt =gt M, HEE, B8, f7te BoX0|1, ¢, AU TN AKX
= 2E 29| St=d it AR M= H(7.02-528-4012)
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